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Note : This paper contains seventy five (75) objcctive type questions of two (2) marks cach. All

{ ucstions arc com P U]HGI‘}-" :

Put the following steps of strategic Management Process in correct sequence ;

. Scanning and Evaluation of Business Environment

b. Formulating strategies

C. Implementation of Corporate Strategy

d. Deciding about the Mission of the organisation

& Sctting Corporate Level Objective

Codes :

(1) a,b,c,dandc (2) d,a.b,candc
(3)y d,a,e candb () d.a,e bandc

Match the items of List-I with thosc of List-II and indicate the codce of correct matching.

List -1 List - II
a. Indian Railways 1. Government Company
b, Unit Trust of India 1. Department Undertaking
¢. Bharat Heavy Electricals Limited  1ii. Statutory Corporation
Codes :
3] b %
cLy 4 i 11
(2y 1 I i
(3 M I 11
(4) 1 11 [

Identity the correct statement from the tollowing :

(1} The habihity of the Karta 1s hmited.

(2} A joint Hindu family busincss continues to cxist on the death of a co-partner.
(3) A jomnt Hindu family business ceases (o exist on the death of the Karta.

(4y A joint Hindu family business comes into cxistence by Hindu law,

Statement I : “"Working m harmony with the community and environment around us and
not cheating our customers and workers we might not gain anything in the short run
but n the long term 1t means greater prolits and shareholders value™.

Statement II : According to Mahatma Gandhi, capitalist class owns wcealth or capital as
trustees of the society.

Codes :

(1} Statement I 1s correct, but I 1s incorrect.

(2)  Statement 1115 correct, but 115 incorrect.

(3}  Both the statements I and I arc incorrect.

(4} Both the statements I and [T are correct.

Paper-111 2 JA-008-17
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Match the 1items of List-I with items of List-IT and indicate the code of correct matching,

List — 1 List — 11
a.  Principle ol Separate . Valuing Plant and Machinery at cost less
Entity depreciation,
b. Principle of 1. Recording  punctuality and  honesty ol
Conscrvatism cmployees of an organization.
¢. Principle of Money . Capital contributed by proprietor is shown
Measurcment as liability in Balance Shect.

d. Historical cost concept  1v. Valuing inventorics at cost or market price
whichever 1s less.

Codes :

i h ¢ d
(1) 1 1] 1 1V
(2) 1 v 1 1
(3) v 11 1 1
4y 1 1 1 1V

Which of the following 1s not true 7

(1) When all the lorleited shares are not reissued, the lorletted shares account will also
show as credit balance equal to gain on forfeiture of shares not yet reissued.

(2)  Loss on reissue ol shares cannot be more than gain on lorfeiture of those shares.

(3) At the time of forfeiture of shares, sccuritics premium is debited along with sharc
cupital when premium has not been recelved.

(4)  When forfeited shares are 1ssued at premium, the premium amount i1s credited to
Capital Reserve Account.

Preparation of consohdated Balance Sheet ol Holding Company and its subsidiary

company 1s done as per

(1) ASII (2) AS 21
(3)  AS 22 (4) AS 23
Amount duc to outgoing partner 18 shown in the balance sheet as his
(1} Liability (2)  Assct
(3)  Caputal (4)  lLoan

Match the ttems ol List-1 with 1tems ol List-II and mdicate the code of their correct
matching.
List -1 List — 11

a. Non-pricc quantity rclationships 1. Extension and contraction of demand.

of demand.
b. Income elfect of a price nse 1. Ordimal utility approach.

ercater than its substitution cffect.
¢.  Transitivity and consistency of i Increase and decrease m demand.

choices.

d.  Price-quantity  relatonships ol 1v. Gilfen goods
demand.

Codes :
i b C d

(ly v 1 11 1

(2) 1 1 v 11

(3) 11 1V 1 1

(4y 1 11 11 h%
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180,  The short-run cost function of a firm is as follows :
TC =200 + 5Q + 2Q°
Where TC = Total Cost
Q = Physical units of the product of the irm
What would be the level of optimum output 7
(1y 035 (2) 10
e 12 4y 15

I11. Short-run demand and total cost tfunctions for a monopoly firm arc as under :
Demand lunction © Q = 100-0.2P

Price function P o= 300—3 0

Cost function . TC= 50+200 + Q-

Where Q = Total quantity of the product in physical units.
P = Price of the product per unit

TC = Total cost

What 1s the prolit maximizing output ol the pure monopoly firm ?

iy 29 (2) 33

(3) 40 (4) 50

12,  In which one ol the lollowing market sttuations, the pricing above the prevailing market

pricc 1s uscd as a more common practice ?

(1) Markets where the selling lirms face perfect competitive sttuations,

(2)  Markets where the selling firms want to gain popularity of the products having high
cross clasticity of their demand.

(3)  Markets where sellers rely on their customers’ high propensity 0 consume i
prestigious commodity,

(4)  Markets where the selling hirms have entered mto the stages of maturity and
saturation,

13.  Which onc of the following statements is talse regarding normal distribution ?
(1y  Mean, Median and Mode always comceide.
(2)  Within = 1.96 o limits from Mcan valuc, the arca under the distribution is 99 pereent
ol the total area,
(3}  The area under the normal curve represents probabilities lor the normal random
variable and the total arca for the normal probability distribution is onc.
(4y  For every pair of values of Meun and Standard deviation., the curve of the
distribution 1s bell-shaped and symmetric.
14. It unexplained variation between variables X and Y 1s 36%, what 1s the cocefficient of
correlation between the variables 7
(1y 0.36 (2) 0.64
(31 0.60 (4y  0.80

15, Which one of the lollowing 1s the formula to calculate standard error ol mean differences

ol two sample groups ?
% B
2 . (2) s
\/; ﬂl n2
2
(3} —wheno! <63 (4) R
% | ) oy n,

Paper-I11 6 JA-008-17
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16. A rescarcher wants to test the significance of the difference between the average
performance ol the two small sized samples when the information ol the population
standard deviation 15 not available, which one ol the lollowing hypothesis-testing 1s
suitably used 7
(1} Z-test (2) Chi-squarc test
(3} F-test (4)  t-lesl

17.  Which of the lollowing statements are not correct 7 Indicate the correct code.
Statement I : Organizational culture mcans the gencral pattern of bechaviour, beliet and
values that organization members have m individuality.
Statement IT ¢ As per contingency theory of Leadership, people become leader only
because of the demand ot group members.
Statement IIT : The group judgement can only be obtained through the formal
committecs.

Statement IV : Ombudsperson in communication function 1s a person assigned to
mvestigate employee concerns and providing valuable upward communication link.

Codes :
(1} Statements I, IT and TV (2)  Statements I, I and IV
(3)  Statements I, IT and II1 (4)  Statements I, T and TV

I18. Assertion (A) : The organization 1s a closed system that operates within and interacts with

the external environment.

Reasoning (R) : The system approach to management includes the outputs from the external
cnvironment on the basis of interactions between management and cmployeces.

Codes :

(1y (A and (R) are correct and (R} 15 the correct reasoning ol (A).

(2)  (A) and (R) are correct, but (R) 15 not the correct explanation of (A).

(3)  (A)isimcorrect while (R) 15 a correct statement.

(4) Both (A) and (R) arc incorrect.

19.  Match List-I with List-1I relating to corporate cthics and indicate the code of their correct

matching.
List -1 List — 11
a. Utilitarian theory 1. Behaviour cuiding statements.
b Code i, Making public known about uncthical
company practices.

c.  Whistle blowing 1. Society with varied intercst groups.

d. Pluralistic socicty  iv. Ewaluation of plans with its consequencces
Codes :

il b % d

Gl I v 11
(2F # 11 1V I
(3) 1 i i 1V
(4) 1v I 1 111

Paper-I11 8 JA-008-17
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Find out the correct sequence of planning function of the following clements :

a.  Diagnosis ol opportunity

b.  Establishing objectuives

& Indentifying and comparing alternatives

d.  Formulating dervative plans

& Choosing an alternative

Codes :

(L a-c.h.84d (21 B @& ased
(3) a,b.c,e.d () a.b.c.d, c

Creating the capability of making purchascs directly from a firm’s website is known as
(1y  Electronmic Networking (2]
(3)  Electronic Data Interchange (4)

Electrome Transactions
Elcctronic Information Transter

For the following two statements ol Assertion (A) and Reasoning (R) indicate the correct

codc :

Assertion (A) : The sell image could be an individual’s own perceived image and actual
imagce basced on how others perecive the individual,

Reasoning (R) : lLarge number of products lTike credit cards, automobiles, readymade
garments, designer ware, cosmetics and perfumes arc bought duc to self image and
demographic variables like income may not be important in purchase decisions for
these products,

Codes :

(1Y (A)and (R) both are not correct.

(2) (A} is correct, but (R) 1s not correct.

(3)  (A)iscorrect and (R) 1s correct explanation for (A).

4y (A)is not correct, but (R) is correct.

Match the media factors given in List-I with examples given n List-1T and ndicate the
code of current matching,

List -1 List - II

a. Media class i.  Prime time at 9:00 PM, full page ad of Honda City

h.  Media vehicles 1. Magazine, T.V., Radio

¢. Mcedia option i1, Flighting, Pulsing

d. Scheduling & timing  1v. Times of India, T.V. serial Bhabhi Ji Ghar Pe Hain
Codes :

a b £ d

(ry n IV i i
(2) 1 I v il
BE 9 11 v i
(4) v ¥ i i

In mtegrating specialist functions of product management with the line function ol sales as
major challenge to top management can be achieved by which type of marketing
organization

(1}  Functional organization (2)  Territorial organization
(3)  Matrix organizaton (4y  None of the above

JA-008-17
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ATTHT (A) : AT Dl TR SATFT 1 201 6T BT ] Tehdl § 218 aedias oid 39 77 T
SAT4TRA Bl &, < @\\LH AT 3L AT & |

Tk (R) : hieZ S, ATHEEA, o9 U a9, TSR 92K, AFed UagT 3R 237 ST HI% 91
IS W B Sid o SR G S & T A S SRR 9= © 3ca5T % ohd 0 H

gyl el & Tahdl |

ohd :

(1) (A) 3R (R) 2 o e € |

(2) (A)TIE TG (R) Tel Tl € |

(3)  (A)TEF &R (R). (A) FT T8 ST § |
(4) (A) TR § W (R) Tal & |

~

- W f5u 0 ditgan 92l F W gAL1 T /Y T SSEIen ¥ % var 98l el % % &

L=

T FL |
= — 1 = - 11
a. it 3 i 9:00 ATF U 2reH, BT 9 & W I o A
b. HiTedr aEA ii. O, 2., e
. HitedT fashed iii, Tod 38M, WWeA

d. oF9E AR I iv. 2 I1F gEAn, 1AL UIREe A ST W E |
T

i} 8] C d
(1y n v 1 11
(2) 1 1 v 11
(3) 1 11 1V 11
4y v 1 111 1

[T UehIE] o THeh- O 91N HEe % 90T U@ TA0aam & &0 T fasd & ol%d U & 97
eI AercFr e UehI o TauT ST § U1 Teham <11 Jehell 8 7
() ﬂa REARHEE (2) VR WS

-

(3) Hfesd gieq (4) TRET T G FE T&I
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Assertion (A) : The important aspect of dividend policy is to determine the amount of
earnings to be distributed to shareholders and the amount to be retained in the firm.

Reasoning (R) : Dividend policy of the ftrm has its ellect on both the long term lnancing
and the wealth of sharcholders.

Codes :

(1Y (A)and (R) both arc correct and (R) is the correct explanation of (A).

(2) (A} and (R) both are correct, but (R} 1s not the correct explanation ol (A).

(3} (A)is correet, but (R) is wrong,

(4)  (R)1s correct, but (A) is wrong,

Match the 1items n List-I1 with items in List-IT and indicate the code of correct matching ;

List -1 List = 11
a. ABC Inventory Control 1. Developing  ancillary  units  around the
System manulacturing sites and supplying parts o

manulacturing units.

b. Just-in-time (JIT) System i1, Enables a company to casily track largc
items ol mventory.

¢. Out sourcing System i1, It eliminates the necessity of carryving large
mventories and saves carrying cost.

d. Computerized Inventory iv. Tends to measure the significance of cach

Control System itcm of inventorics in terms of 1ts valuce,
Codes :
a b @ (
(ry n I [ v
(2) v ¥ i i
(3) v 11 i 11
(4) 1 t Il v
In certainty-equivalent approach. risk adjusted cash Mows are discounted at
(1) Accounting Rate of Return (2) Internal Rate of Return
(3} Hurdle Rate (4)  Risk-free Rate
“That personal leverage can repluce corporate leverage’ 1s assumed by
(1y  Tradinonal Approach (2) MM Model
(3) Nect Income Approach (4)  Nect Operating Income Approach

Match the List-1 with List-IT relating to Human Resource Planning activitics and indicate
the code of correct matching.

List -1 List - II

a. Forecasting L. Optimal employment

b. Inventorying . Devclopment activitics

¢. Anticipating manpower problems 111, Mathematical projections of industrial trends

d.  Planning programs 1v. Projecting present resources into luture
Codes :

il b C d

LT T I Y 111
G2y v I 1l
(3) v i i 111
(4y 1 i IV 11
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STHIT (A) 1 T T B UF TR0 UEE] YIETEER i fAaieE sl S AEl e OO
% (R) : TrET WA &7 STaieT Hiid h T4Te SIHehiorsh [erauT 2 SRR 3 4+ 7T 5aT & |
ET

(1) (A) 3T (R)ZAT TBT & 3T (R), (A) FT TET TILHIT § |

(2)  (A) #R(R) TET WL €, W (R), (A) T TRT TILHT F2T 7 |

(3) (A) T & W (R) T & |

(4)  (R)FRI &, W (A) T F

TAT-1 T HaT T THe 11 | FHi0 378 T Fe 1 =97 FHie

Tl - Tt - 11

A, UGS gerel dhglet T L m—mTuT T a; ST T s

b. SEEFA-ERA (JIT) fowed ii, Tepdl SO I ATe1 g1 1 FEl T51 &l ST
T SR H e S |

FHIAT € TEH TE-TETE AT | F9d e & |
d. FHUTTE T FHIel M=H v, e g9 & Te 95 % Jod &% §ed 0 6
FaiaEFfTI e %F |

E A
il b C d

(1 i i i iy
2) iv i i i
(3) v i i i
@) iii i i iy
WWWWWWWW@WWﬂWWWWWW? o
(1) ViTHeT & oRgi 57 (2)  WdHeT 1 AR 5T
(3) @M AT (4) SIEY T3 5

Tefy STFTT ATET, AN TATasT ] Waeaad T Wehell § |° 261 WicaTE TShaw fehaT 74T o7 9
(1) O3NS 3UMTH (2) UH UH HEH
(3) Tt 219 3 (4) et TR 3 SUTH
T=Te ST AT Taia¥ar ¥ Tared gar-1 37T Ga-11 361 e % AR T8l % FH 997 FL |

= - 1 T — 11

a. TEHAE i AT ISR

b, HTET I TR HAT i, feresra iatatEt

c. SIS T GHE I Galshel fii. AT T % MO 3T

d.  FEET FEET iv. WEsg W SEwE SArEl F1 ST
ohd :

a b C d

(1) i i iv it
@) i v i i
(3) v i i it
@) iii i iv i
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Which council was cstablished in India by Government of India in the year 1966 to
promolte safety consciousness among workers in industries ?

(1y  Factory Advise Council (2)  National Salety Council

(3)  National Industrial Council (4)  Safety Regulations Council

Assertion (A) @ Recruitment 1s positive while selection 1s negative n its application,

Reasoning (R) : Recruttment aims at increasing the job seekers while selection rejects a
laree number of unqualiticd applicants.

Codes :

(1y  (A)iscorrect, but (R} 1s not correct.

(2y  (A)and (R) both arc correct, but (R) is not the right explanation of (A).

(3) (A} and (R) both are correct and (R) 15 the right explanation of (A).

(4)  (A) and (R) both arc incorrect.

Match the List-I with List-1T relating to Social Security measures 1 India and mdicate the
codce of correct matching,

List -1 List — IT
a.  Social Assistance 1. Pavable to workers in accidents & injurics
during employment.
b. Social Insurance 1.  Covers individual risks primarily.
Commcrcial Insurance i1, Maternity benefits,
d.  Workmen’s Compensation  1v. Provident Funds
Codes :
il b ¢ d
(1) 1 v i I
(2} 1v I 11 i
(3) v i I il
4y 1 i i v

Match the following items of List-I with the items ot List-11 and indicatc the code of
correct matching.

List -1 List — 11
(Name of Bank) (Year of establishment)
a. [FCI . 1981
h. SIDBI i, 1982
c. NABARD 1. 1948
d. EXIM Bank v, 1990
Codes :
a b & d
{1y 1 1 1 hY
(2) v 1 11 1
(3) 1v 111 11 1
4y 1 v 1l 1

Paper-111 14 JA-008-17
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30, S Y FHER R AT G STEHAT H F@E 99 % [0 IRT TERR 3R a9 1966 § HRA 9
(1) SHREHE 9o IRug (2) TR T U
(3) T AT aRuy (4) g fafaem afwog

31, ACTHU (A) 1 ST T Tl THRIHF &, STaish 98+ THRIES § |
% (R) @ WAl 61 3599 A G At 1 T Sg 2] € S 9he § e 9 6 S
ohd :
(1)  (A)TEIE W (R) Tl 721 § |
(2)  (A) 3R (R) T Hl & T (R), (A) FT Tl TR Tl € |
(3)  (A) 3T (R) 3 WET . 2 (R), (A) F1 T PILHE |
(4)  (A) IR (R) THI T |

32, R ¥ WIS GYET UM & Hed | g1 1 el H1-1] & 9 HY 3T T8l FHe & T L |
it - 1 il - 11

A, IS HEE] i, TR % SR GH2ATST a9 Zaed 84 UL HERTR
Y |
b. @I = ii. WEe €U ¥ Aied & @y % Sal AT e |
c. @I & iii, ATg o
d. ST S et v, e iy
ohd :
il b g d
(1) iii iv i i
Q) iv Hi i i
(3) v i i i
@) i i i iv
33, -1 K TSI T G-Il R o W GHIEH Y T TR W A F2 S a9 F
=t - 1 = — 11
(sl BT =) (FTIAT W)
q, 2T UE Wl TS i 1981
b. fazen i 1982
c. AmENE i, 1948
d. Ui S iv. 1990
ohd :
il b C d
CIy i ; i iv
2y i H i
(3) iv i F :
5 A i i i
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With a view to cncourage newer classes of entreprencurs and bringing about wider
dispersal ol ownership and control of industrial undertakings, IDBI operates a special
scheme lor supplementing the equity contrtbution to projects made by small and new
entreprencurs. This scheme 1s known as

(1) Bridge Louan Scheme

(21 Soft Loan Scheme for Modernisation

(3)  Technical Development Fund Scheme

(4y  Sced Capital Assistance Scheme

Which one ol the following is not the objective of UTI ?

(1Y To give everyone a chance to indirectly own shares and sccuritics in a large number
ol select companies.

(2)  To maximisc mobilisation of pcople’s savings by making insurance linked savings
adequately attractive.

(3)  To channclize the pooled savings into productive outlets,

(4)  To mobilise savings ol the community by oflering savers the (riple benefits of
salety, hquidity and profitability of investments.

Under which ol the lollowing schemes, the IFCI procures equipment for an actual-user
industrial concern by making payment to the machinery/equipment supplier, and then
resells/transfers the equipment to the actual-user-industrial concern at the same cost,
subjeet, however, to any liability arising out of taxes and other levies, being put to the
account ol the actual user industnal concern ?

(1Y Equipment Credit Scheme (2)  Egquipment Procurement Scheme

(3)  Equipment Finance Scheme (4)  Scheme of Equipment Leasing

Match the items of List-1 with List-I1I and denote the code of correct matching,

List -1 List — 11
a. International Bank for Reconstruction and Development 1. 1943
b. International Finance Corporation it. 4950
c. Asian Devclopment Bank . 1966
d. Export-Import Bank of India iv. 1981
Codes :
a b C d
GEY 11 i v
(2) 1v 1 il I
(&5 4 11 I v
(4) 1 i v i

Assertion (A) : International Fmance Corporation (IFC) contributes to  increase
sustainable agriculture opportunitics, improve health and cducation and increasc
access to linancing for micro finance and business client.

Reasoning (R) : The IFC has focuscd on a sct of development goals to cnsure that its
projects are expected (o achieve the target.

Codes :

(1} Both (A) and (R) are correct, hut (R} is not the correct explanation of (A).

(2)  Both (A) and (R) are correct and (R) 15 the correct explanation ol (A).

(3) (A} is correct but (R) 1s incorrect.

(4)  Both (A) and (R) are incorrect.

Paper-111 16 JA-008-17
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34, AW % U G R AT A q4T ANTE STHA oF Cfee Ua g o g e
o % YT W @ gl T AT FRT SR T AERe § O 9ndar SEE o SR % Ay
g BT & ATE Ush [T A1 Gatere el & | 98 i (9ileh H o5 T § ST S0l 8 9

(1) fo=1 T F=T (2) AR o o 35R 720
(3) e TR M e (4) AT ST WETEAn A

35, TAIHRd O W S F 21 2% F 3299 6§ 7
(1) 6= H AH=T ST 7 IR q97 Wedaar & el e & 6w ol Rl STere
S
(2)  HHT g o9l o UAT Y T TR g9 ofeh 99T % TUEYT i STTRad T |
(3) UHEE STl SERE WEAT § ATET

36, TR O W RO O & S9N S UE W S areaiesh-SUanTsRaT e S o e
A, T FAT 3= ULV F S BT G AR 3T SARNE HOl o @
gt TohaT STaT € 2

(1) U0 UG FioM] (2)  SUFAOT STEUIE AT
(3)  ITHLOT T T (4)  SURTOT T U TR S i arsTEr

37, -1 TET B GEL-1 T W GEier A9 O & WEl 2 79T H

=t — 1 =t — 11
a. vH{IfkiIr‘»{ '4-—IIrI4-IILJI e T 9o 1. 1945
h. WT@‘TWTW 1. 1956
c. TS T T 111, 1966
d.  ardE A 9% iv. 1981
ohd :
a b B d
Elie A 1 11 1V
(2) v 11 1l 1
(3) i i1 i 1V
4y 1 v 11

38.  HiwebEe (A) : U foe [ (SRR L) FAT FIT AR H Fieg hT, T 71 ferat 7

U T T7 Feafad U6 FRER] Teehl & (00 Gaamo 1 erddl § gig &1 0 arEH
EZGIRN

7% (R) : 275 UF §F 3 fa @l 3 U TF W F S 1 ¥ A 9 e e S
T 9 3! OIS T 16 67 W Sl o1 2197 6l S0 & |

ohd :

(1) (A) 3R (R) SFT &6 & TR (R). (A) 31 0 =amen] 1 & |

(2) (A) &W(R)ﬂmwg\,ﬂ(m (A) ] T8 AT E |

(3) (A)TRE T (R) TAAE |

@) (A)IR(R)FAI T & |
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Under TRIPS Agreement, patent 1s granted subject to which of the following 7

a.  The product or the process 1s new one.

b. [1 contains an inventive step.

& [t 1s capable of industrial application for 15 years from the grant of the patent.
d. It is capable of industrial application for 20 years from the grant ol the patent.
Codes :

(1} Onlyaandb (2)  Only a, band ¢

(3) Onlya,bandd (4)  Onlyaandd

Statement T : During the period ol prosperity, prices ol goods fall and income of people
20 down. These changes in incomes of the pecople and prices of goods affeet exports
and mmports ol goods and thereby mflluence the balance ol payments.

Statement II : Sccular discquilibrium in balance of payments occur because of short-run
changes 1 an economy.

Codes :

(1} Statement I 1s correct, but I 1s incorrect.

(2)  Statement 1115 correct, but 118 mcorrect.

(3) Both the statements I and II are correct.

(4)  Both the statements T and [T are incorrect.

Which of the following correctly depicts differences between a merger and an acquisition

of stock 7

(1} An acquisition of stock results in the total absorption of a firm whercas a merger
does not.

(2)  In casc of a merger, the firm can deal directly with the sharcholders of the acquired
[irm but not m the case ol acquisition of stock.

(3)  Sharcholders of the acquired or target firm vote by their responsc to a tender offer in
an acquisttion ol stock but cast a formal vote n a merger situation.

(4y A formal vote by the acquired [irm’s shareholders 1s required for an acquisition of
stock but not for a merger.

Match the 1tems of List-I with the items of List-II and indicate the correct code
List — 1 List — 11
a.  Value added Model 1. It is based on the process audit thereby cvaluating the
corporate soctal performance,
bh.  Bauer-Fenn Model 1. It takes mto account the social benelits and costs.

c. ABT Model ti. It reflects the impact of a business cnterprise on its
employees, the local community and the public at large.
d. ESTs Model 1v. It shows the valuc added by the valuc of production of

soctally desirable outputs minus the value ol socially
undesirable ellects.

Codes :

) b C d
(1) 1 1 111 1V
(2) v 1 11 1
(3) 1v 111 11 1
4y v 1 11 11

Paper-IIT 18 JA-008-17
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39, forH (3 AW T 0T Uw) WS o A FEine % aTdi e e e STEr ¥
A, IS el UishAT A% & |
h. O AR FEH & |
c. TE ST UM fHU SE 15 a0 % [0 iR ST & T e E
d. ¥ U WEH TR ST ¥ 20 391 & foTd 3TRNTeR ST9EnT o ol 9879 & |
ohd :
(1) 3 a 3T b (2) FaAa, b AT ¢

-

(3) HEeTa, b 3Md (4) A a 3 d

40. wum 1 : 9905 F @Y % ERA S T ST F2dl § a4l SN 1 2T- 92 Sl § | AR
AT AT TEIST T BT T T WA G o AT T4 AT B W e § e

el I1 ¢ 1A ot O ey STam Sl stIeaee T § SToumaies Il o HRo] a6l & |
A
(1) a1 TR e, Fhe 11 T & |
(2) AT &€, T | Mo € |
(3) T IR T TEE |
(4) U1 SR 11 TE T

41. TATHRT W A (o T4 Wi & SURT % 5 2307 F Gl T F O Ha £ 0
(1) 2Tk &1 AfemEo fomel &9 s a0 SHIEYE & S Hers e =5 ¥ o
(2) foor % ATEeT ¥ SMRehdl B ARG B & AT o WY Hie TR Y Tkl 6,
AT T2 &5 3TTEURTT & OMhel § 78l |
(3) AR TUE Feg FH o YaTdRe Wi o SATUTETT § HiaeT Ul o Ui eE! Ffmar
o T § TARH A €, [ohd [aerd o OTHel 7 39e1e TasH Fd & |
(4) AR w % SEERE gR1 i % A % fAu Seiir Ta & enevasa g 2.

)

42, -1 TET B GEl-11 e GOierd Y 2T Wal 5 FIT H
T - 1 Tt — 11
A, Tod Harad Ared] i, 9% URRAT 31RO T AT Bl £, ST g R HWHISTE
SFTISHAT 3T qodTeh [T Sl & |
BY § SEEERT U G 1 AiaiEiEe S E
d. TUg I HEA iy, 9% AT B ¥ ai9d IoieA % Hed O H gt w1 °
2TelfSd W@l % Jod ol H2] Y a< Jod Hag & a9dl § |

= Y

el

a b C d
(lE i 5 111 1V
(2) 1v 1 111 11

(3) v 11 11 1
(4y v 1 1 11
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You arc given the following information :

X-Security Muarkel-Security
Fxpected Return (%) IS L2
Standard Deviation of the return (%) O 4
Coellhicient of Correlation between the returns 0.4
What 1s the Beta-coctficient of sccurity X to mcasure its systematic risk 7
Codes :
thE | (2 1.5
(3) 06 (4) 04
Leasc which includes a third party (a Iender) is known as
(1y  Direct lease (2} Sales and lease-back
(3) Lecveraged leasc (4) Inverse lecase

Which of the lollowing activities should be shown separately in the cash flow statement
preparcd as per Accounting Standard-3 7

a.  Cash Mow Irom borrowing activities.
Cash flow from opcrating activitics,
¢.  Cash Tow from linancing activities.
d.  Cash flow from investing activities.
i, Cash flow from misccllancous activities.
Codes :
(1) a,b.c (2) a.c,c
(3} b,c,d 4y a,b,e

Which of the lollowing statements 1s correct 7
(1)  The oldest stock exchange of India 1s OTCEIL

(2)  Sensex is an index number of 30 scrips.

(3)  In book-building process, the price of the sccurity is announced by the company.
(4)  Futurcs and options in sharcs are traded at all stock exchanges of India.

Match the 1tems of List-I1 (Developers) with the items of List-1I (Methods of mcasuring
human assets) and mmdicate the correct code

list -1 [List — TI
a.  Hekmmian and Zones 1. Stochastic Rewards Valuation Model
Hermanson i1, Compctence Bidding Method
c. R.lLikert . Adjusted Discounted Future Wages Model
d.  Flamholtz 1v. Behavioural Variables Model
Codes :
il b ¢ d
Gl 4 i 11 1V
(2y 1 I v i
(3) 1v 1 I il
(4) 1 v i I

The concept of achicving maximum profits through increcased consumer satisfaction for
raised market share locuses on

(1) Product (2) Sclling
(3)  Customer (4y  Production

Paper-IIT 20 JA-008-17
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X-Tiergid EISIERIGEIG]
TEETTSTE Wl (%) 15 12
OTeeAT™] 21 JTeR TEaT (%) § il
YT o ST TEEay 0T 0.4
Ofegid X & UUTeIRTe ST 31 37T % 7610 SHeR! Se-T0Te &7 & 7

E A
(1 1 (2) 1.3
3y 0.6 4y 04

g% TS TSTHH T8 e (ROTEIAT) YH B1AT £, FHeclal §

(1) veges vgt (2) TEERl US TET-EmTE
(3) s e (4)  Fodrer g

ST AMe-3 o 28R AR [0 T el HaTg Jeiol O FEisd 7 15 & & o0 9
b, U HREG | Al Uellg

c.  TorieR SR W T vArE

d. HEWT EFTZ[EF'_TIT:{T £2) :ﬁ'_ﬁT PEIR

[ |f3||f3|tT ’33{*|‘3|C‘h'~"*’1|l-“ U BE | PN

= A

(=%

(1} a,b,c (2) a,c.e

Bk b eed (4) a,b,e

TR | W & W 9T T 8 7

(1) 9IRE F GGH RAT Wi U= 2121915 2T, § |

(2) TEET 30 YRR 1 UF TAHE & |

(3) = FafeEn ufsRaT 9 Wiaaid = ToF & SO R FRH S

(4) RRI % WEY T AT 1 HRER IR & T4] W @dfurer § 76 S g |

TEN-1 T FRT (WIS T G-11 7S (AT GATEH o 919 1 67e) o 0 JHIeTT a9 T2l
2 ol =AT HL

[} )
Tt - I w11
4. ? r\EFF\EIH U S i TS (FETRINEER) TOERTY el Hige
b. BH~HA i, & @l Jred
R iii, WU dgigha TazHaH oGl Hige]
d. AR v, PRI T O9¥ W
hd
[
a b C d
CLE 8 11 1V
2y 1 11 1V 1

(3} iv i i i

4y 1m 1V 11 1

9% g0 AT qFT % 610 Haldd ST e o AT ¥ A 1 AT i Wi SEER o
=T Toh e 9T 1T higd a1 51 § 2

(1) S (2)  Taw

(3) TEw (4) e
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Which of the following is not a mcasure for quality of service for consumer 7
(1) Responsiveness (2)  Competition
(3)  Empathy (4)  Tangibility

Which ol the following 1s not a targeting strategy ?
(1} Standardization (2) Diffcrentiation
(3) Focus () All ol the above

Match the 1items of List-I with items of List-IT and indicate the code of correct matching,
List -1 List - IT
a. Rcal Needs i.  Expecting good service from car dealer.
b. Unstated Needs 1. Customer expects to be seen by his Iriends as value-oriented
Savvy consumer,
c. Delight Needs 1. Customer wanlts car at low operational cost and not initial cost.

d. Secret Needs 1v. Customer receives Iree insurance on purchase of car.
Codes :
i b ¢ d
(1) 11 I v il
(2y 1 I Il v
(3) i v i i1
4) 1v i I 111

Statement [ : The lirm should “stick to 1ts michmg™ but not necessartly to its niche.
Statement I : Multiple niching is not preferable to single niching.,

Codes :

(1} Both the Statements arc true.

(2)  Both the Statements are lalse.

(3)  Statement I 1s true, but Statement I1 1s falsc.

(4y  Statement II 1s true, but Statement I 1s falsc.

A descriptive thought that a person holds about something is called

(1) Belicf (2) Lcarning
(3)  Atutude (4)  Perception

Dceferment, Autonomy of object, use of the common place, involvement/detachment and
usc of metaphor are description of which of the following technique 7

(1)  Bramstorming (2)  Syneclics

(3) Forced Relationship (4)y  Attribute listing

Which of the following statements are correct ? Indicate the correct combination :

. A well motivated individual tends to experience a low degree of morale.

b. A group characterized by a high state of morale may or may not have a high degrec
ol motivaton to perform.

£ Morale can always be built up by a combination of rewards and penaltics.

d.  Organizatons, in general, devote more direct atiention towards motivational aspects
of pcople’s behaviour than the aspects of morale,

Codes :

(1y a,bandd (2) ¢ and d only

(3) a,candd (4)  bandd only
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49, QWWFWW?WWWWWWWW%"}

(1)  FIEramsss (2)  wfae
(3)  FOEEE 4w
50, TiERa ¥ 9 %M o8 WHIT T8l 8 2
(1) TR () T
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Assertion (A) : Oreanizations arc increasingly getting de-jobbed.

tn
-

Reasoning (R) : Jobs are becoming more amorphous and more difficult to deline.
Codes :

(1) (A} and (R) both are correct but (R) 18 not the night explanation ol (A).

(2)  (A)and (R) both arc not correct.

(3} (A)iscorrcct, but (R) 1s incorrect.

(4y  (A)1s correct and (R) 1s right explanation of (A).

57.  Which of the following statements relating (o incentive payments Is correct ?

(1y In Halscy incentive plan, bonus paid to a worker is cqual to 30 pereent of time saved
divided by rate per hour.,

(2) In Rowan centive plan, bonus paid to employee 1s equal to the proportion ol the
time saved to the standard time.

(3} In Taylor's differenual piece rate system, a worker whose output exceeds standard
output 1s paid 100 per cent of picce rate and a worker whosc output falls short of
standard 1s paid only 50 percent of piece rate.

(4)  The Rowuan mcentive plan is the base ol all other incentive, payment plans.

tn
S

Match the most common rating crrors made during performance appraisal with their right
explanations. Indicate the code ol correct matching.

List —1 List — 11
(Common Rating Errors) (Description)
a. Leniency 1. Subjcctive assessment
b. Halo crror ii. One aspect of individual’s performance
influence his cntire performance
c. Spillover cffect i1, Past performance  appraisal  ratings
unjustifiably mfluencing current ratings.
d.  Rater effect iv.  Favoritism and stereotyping
Codes :
a b £ d
Chy I 1l v
(2} 1 1] v i
(3) 1 IV 11 i
(4) 1v 111 il I

59, Which one of the following industrial relations approach believes in state intervention via
legislation and the creation ol industrial tribunals as supporting management’s interest
rather than ensuring a balance between the competing groups !

(1) Unitary approach (2)  Plurabstic approach

(3)  Marxist approach (4) Judicrary approach
Paper-111 24 JA-008-17
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6ll.  What is the term coined for the system of communication and consultation, cither formal
or informal, by which workers of an organization are kept mformed, as and when
required, about the affairs ol the undertaking and through which they express their opinion
and contribute to decision-making process of management 7
(1) Collecuve Bargaming
(2)  Empowcrment
(3)  Workers’ participation in management
4y  Welfare state

61,  Match the items of List-1 with those ol List-1T with regard to operative functions ol HRM
and indicate the code of correct matching,

List -1 List — 1T
a. Procurcment 1.  Performance appraisal
b. Development 1. Disciphine
¢. Integration . Induction
d. Maintenance 1v. Personnel rescarch
Codes :
a b C (

(ly n i v i

(2F d v i il

(3) 11 I i 1V

4y 1 1 I 1V

62,  What 1s the popular term used for that type of option in Foreign Exchange Market which
provides the holder the right to purchase or scll forcign currency at the most favorable
exchange rate realized over the life ol the option ?

(1}  Forward reversing option (2)  Preference option

(3)  Look back option (4)  Basket option

63.  What is the term used popularly for the situation when a speculator, being dominant in the
market, expects a drop 1 the value ol a particular currency and he begins selling 1
torward 7
(1) International Fisher Effect (2)  Bandwagon Effect
(3) Intcrest Rate Parity Effect (<) Relative Version Effect

04, Identify the correct statement.

(1)  The Maastricht Treaty signed in February 1992 renamed European Community (EC)
as European Economic Community (EEC).

(2)  Thec main objective of the formation of ASEAN Free Trade Arca in 1993 was to
soften the restrictions on the movement ol professionals in the region and helping
poorer countries.

(3)  The SAARC 1s a regional grouping scheme among Six South Asian Countrics,

{4y The European Union, including European Monetary Union, was the biggest and

most important regional integrative scheme,
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65. Match List-I with List-II relating to benefits and cost of cconomic integration and identify
the code representing correct matching.

List -1 List — II
a. Tradc creation . Movement of production and rcsourccs in opposite
directions.
b. Trade diversion i, Become active when a member country docs not

augment export but simply shilts 1ts imports from low
cost source to high cost source.

¢. Tradc deflection 1. Shifting the locus of production from high cost to low
cost centre within the union.

d. Polarisation forces  1v. Goods produccd in a third country entering a free trade
area through a member country having lower tariff.

Codes :

) b ¢ d
(1) 1 11 1V 1
(57 5 Y 1 11
(3) 1 1 v 1l
(4) 11 1 1 1V

66. What is the situation referred to as, amongst the following, when intra-region trade is duty
free but there 1s vartation m tariff structure for import from a third country ?
(1y Customs Union (2y  Common Markel
(3)  Free Trade Arca (4)  Economic Union

67. Which of the following statements is not correct relating to comparison of FDI with trade ?
(1) Only one market can better be served with differentiated products.
(2)  FDI overcomes tarift and transport cost involved in trade,
(3) Tt reduces financial risk through greater diversification,
(4y It creates harmonious political relations.,

68. Mauatch List-I with List-IT regarding the grouping ol Multi-national Corporations and
identify the code representing correct matching.
List -1 List — 11
(Type of MNC) (Basic leature)
a. Ethnocentric firms 1. Maintain a balance in home and host
market oriented policy.

b. Polycentric firms i, Scldom distinguish between domestic
& global operation policies.
c. Geo-centric tfirms 1. Follow a host market policy.
Codes :
3] b C
(1) 1 I i
(2) 1 Il [
(3) i 11 I
(4) 1 [ i
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An equipment was acquired at a cost of T 10 lacs and was put to use n Scilentific
Rescarch. After onc year of rescarch the equipment was brought into another business of
the assessee. For charging depreciation, Block ol Assets shall be increased by

(ly T 10 lacs.

(2)  Market value of the equipment on the date it was brought into another busincss.

(3)  Cost or market value of the equipment, whichever 1s less.

(4)  NIL.

IT an assessee 15 engaged m the business ol growing and manulacturing tea n India, the
portion of agricultural income 1n that case shall be

(1y 100% (2)  60%

(3) 50% (4) 40%

Which of the lollowing statements 1s not correct 7

(1y X s an mdividual assessee. He pays a monthly rent of 3 10,000 pm. He cannot
deduct tax at source.

(2} On salaries, tax s deducted at source according o provisions of Sec. 192.

(3) Notax 1s deducted at source mn respect of interest on sceuritics issued by a domestic
company.

(4)y  Bank will deduct tax at source @ 10% 1t bank fixed deposit’s interest credit 18 more
than ¥ 10,000 in a ycar.

X donated T 20,000 to a charttable institution, which 15 ehigible for deduction u/s 80 G,
during the financial year 2015-16. His otal income during the period was 3 1.50.000.
How much deduction he can claims u/s 80 G 7

(1y < 7.500 (2) 3 10,000

(3) ¥ 15,000 (4y % 20,000

X is emploved in a private company at a salary ot ¥ 70,000 per month and I 10,000 per
month as dcarness pay. He received < 2,000 per month as house rent allowance. He paid
< 2,500 per month as housc rent. What is the exempted portion of housc rent allowance ?
(1) < 2,500 (2) < 2,000

(313 ¥ 1,000 (4)  NIL

Surcharge 1s pavable by an individual where the total income exceeds
{1y £ 101acs (2) < 25 lacs
(3)  T50 lacs (4y T | crore

Which onc of the following statements 1s not correct ?

(1} A person may not have assessable income but sull be an assessee.

(2)  In somc cascs, the assessment year and the previous year can be same,
(3)  An Indian company 1s always resident assessee.

(4y  Surcharge is additional tax calculated on total income.
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